GOVT. OF JAMMU AND KASHMIR

OFFICE OF THE DISTRICT SUPERINTENDING ENGINEER



HYDRAULIC CIRCLE KUPWARA -- HEADQUARTER HANDWARA

NAME: Mr. WALI MOHAMMAD AHANGAR

S/O: LASSI AHANGAR

R/O: RESHIGUND KUPWARA

Registration No: SE/HYD/Sgr/AAY-Class-165/ Civil of 2003-04

GSTIN NO: 01AEIEPA3850C1Z8.

ALLOTMENT ORDER NO:32....-DSE/HH/DB OF 2023-24 DT: .00..../05/2023

Sub: Laying and Fitting of different dia DI/G.I. Pipe Network for 100% FHTC under JJM FOR WSS Reshigund Kralpora.

Ref: -

1. Minutes of the 8th meeting of Technical Appraisal Committee held on 08-02.2022, minutes issued thereof vide CE/PHE/DB/44620-41 dated. 12-03.2022.

2. Accord of Administrative Approval vide Department of Jal Shakti (Civil Secretariat) Government Order No. 45-JK(JSD) OF 2023 Dated: 08-03-2023 vide Endorsement No.: JSD-PS/8/2022-PLG-JSD, Dt: 08-03-2023,

3. Revised District Action Plan of District Kupwara by DJJM vide No. DDCK/Plg/JJM/12709-20 dated. 14.07.2022

4. Govt. Order No. 19-JK (JSD) of 2022 dated. 04.02.2022

5. Technical Sanction Order No. CE/PHE/DB/893 of 03/2023 dated. 09.03.2023.

6.District Development Commissioner Kupwara's Authorization No. DDCK/Plg/JJM/5861-66 Dated: 06/08/2022.

7. Recommendation forwarded by Executive Engineer PHE Division Kupwara vide his office Letter No.: PHE/KUP/609-11, DT: 06-05-2023.

Advertised cost: - Rs: 190.03 Lacs Allotted cost: -Rs: 174.83 Lacs

(Rupees One Crore Seventy Four Lacs Eighty Three Thousand Rupees Only).

For and on behalf of the Lt. Governor of Jammu and Kashmir UT, contract for Laying and Fitting of different dia DI/G.I. Pipe Network for 100% FHTC under JJM FOR WSS Reshigund Kralpora is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs: 174.83 Lacs (Rupees One Crore Seventy Four Lacs Eighty Three Thousand Rupees Only Only) the terms and conditions as laid down in E- NIT No: 12 of 2022-23 issued under endorsement No. PHEDK/608-19 Dt: 30-05-2022 from Executive Engineer PHE Division Kupwara shall be binding on the contractor.

S.No	Item Description	Quantity	Units	Rate	AMOUNT
1	Earth work in bulk excavation by mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. (All kinds of soil)				
i	Ordinary Rock	10321.08	Cum	378.35	3904981.00

Division

1 2	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides andramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:					
-	All kinds of soil	6880.72	Cum	436	2999994.00	
3	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	10946	Cum	198.7	2174970.00	
4	Providing and fixing G.I pipes complete with G.I fittings excluding trenching and refilling etc. (external work) 15 mm dia.	2500	m	144.4	361000.00	
5	Laying and fitting of G.l. pipes (all classes) complete excluding cost of pipes, fittings and Earth work.					
i	20 mm dia. nominal bore	12100	m	22.28	269588.00	
ii	25 mm dia. nominal bore	9000	m	33.72	303480.00	
iii	40 mm dia. nominal bore	5500	m	44.88	246840.00	
iv	50 mm dia. nominal bore	4900	m	44.88	219912.00	
V	65 mm dia. nominal bore	3400	m	80.36	273224.00	_
6	Providing and fixing of MS flanged joints (12mm thick) to double flanged GI/DI pipes including cutting of pipes, welding charges, cutting of flanges, rubber gasket, bolts, nuts including testing of joint and sorts of carriages. Complete Job.					
i	80 mm dia. pipe	260	Joint	1100	286000.00	
7	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe)	7359	Qtls	270.:	11 1987739.0	00
8	Providing and laying D.I. Specials of Class K- 12 suitable for push-onjointing as per IS : 9523 (Upto 600 mm dia)	73.59	Qtis	18762	1.05 1380626.	.00



				-		-	
	Providing Push on joints to Centrifugally Providing Push on joints to Centrifugally Providing Cast iron pipes or Ductile iron pipes (Spun) Cast iron pipes and including the including testing of joints and including the including tof rubber gasket.						
	(Spun) Casting of joints and including the including the gasket.	2000	Joint	285	.89	5997	97.00
	250 mm dia DI	2098		-		2880	98.00
1		1810	Joint	159	.17		
11	125mm dia DI	392	Joint	98	.67	38679.00	
10	Providing & fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leakproof and should be painted with anti corrosive red oxide primer. Complete Job.	840	Kg	14	7.82	124169.00	
11	Making connection of G.I. distribution brailers with G.I. main of following sizes by providing and fixing Tee, including cutting and						
i	threading the pipe etc. complete	240	each	7	32.88	17	75891.00
	25 to 40 mm nominal bore		+-		395.63	1:	36772.00
ii	50 to 80 mm nominal bore	98	each	1		+	
12	Taking out connection from DI pipes including cutting of pipes , welding at joint using genset, welding machines at site of work complete ina II	4	job)	4000	00 1	6000.00
13	Providing and installation of double orifice air valve 50 mm dia on raw water main and intake mains at spots including making of hole, insertion of pipe, pipe speccials using welding machine at site of work complete in all respects	4	job	os	5147.	50	20590.00
14	Labour for cutting of CI pipes with steel saw						1
i	250 mm DI	18	Ea	ach	352.	45	6344.00
ii	125 mm DI	32	E	ach	195	.35	6251.00
iii	100 mm DI	25	E	ach	14	0.60	3515.00
15	Providing and fixing D.I. sluice valves Class (with cap) complete with rubber insertions, bolts, nuts, extention rod, joint connector, supporting pedestal with base plate, top plat and necessary anchoring bolts etc. (the tail pieces if required will be paid separately). Confirming to IS:14846 read with latest	Ŧ		-			

TO



100 mm dia 2								
			100 mm dia.	2	Each	17210	34420.00	
### ### ### ### ### ### ### ### ### ##				6	Each	21000	126000.00	
Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed with C.I. wheel of app			250 mm dia.	6	Each	66440	398640.00)
			providing and fixing gun metal gate valve					
10 10 10 10 10 10 10 10	1	Fi	80 mm nominal bore	8	Each	9000	72000.00	
10			65 mm nominal bore	4	Each	7000	28000.00	
17 Supply of GI Pipe Specials conforming to IS 1239 (Part-2) 20 mm dia G.I elbows 121 Each 39 4719.00 25 mm dia G.I elbows 90 Each 54 4860.00			50 mm nominal bore	6	Each	4800	28800.00	
1239 (Part-2) 20 mm dia G.I elbows 121	-	iv	1 10 mm nomina boro	8	Each	4000	32000.00)
121 Each 39 4719.00 121 Each 39 4719.00 121 Each 39 4719.00 122 Each 54 4860.00 123 40 mm dia G.I elbows 55 Each 115 6325.00 124 Each 205 10045.00 125 Each 322 10948.00 126 Each 322 10948.00 127 Each 322 10948.00 128 Each 322 10948.00 129 Each 322 10948.00 130 Each 322 10948.00 140 Each 324 1464.00 150 Each 30 1350.00 160 Each 30 1350.00 170 Each 30 2250.00 180 Each 30 2250.00 180 Each 30 3250.00 180 Each 32 320.00 180 Eac	İ	17	Supply of GI Pipe Specials conforming to IS 1239 (Part-2)					
ii		i	20 mm dia G.I elbows	121	Each	39	4719.00	
iii		ii	25 mm dia G.I elbows	90	Each	54	4860.00	,
iv		iii	40 mm dia G.I elbows	55	Each	115	6325.00	
v 34 Each 322 10948.00 vi 80 mm dia G.I elbows 15 Each 432 6480.00 vii 20 mm to 15 mm G.I. sockets (reducing) 61 Each 24 1464.00 viii 25 mm to any smaller size G.I. sockets (reducing) 45 Each 30 1350.00 ix 40 mm to any smaller size G.I. sockets (reducing) 28 Each 55 1540.00 x 50 mm to any smaller size G.I. sockets (reducing) 25 Each 90 2250.00 xi 15 mm G.I. Tee (equal/reducing) 10 Each 32 320.00		iv	50 mm dia G.I elbows	49	Each	205	10045.	00
vi 15 Each 432 6480.00 vii 20 mm to 15 mm G.I. sockets (reducing) 61 Each 24 1464.00 viii 25 mm to any smaller size G.I. sockets (reducing) 45 Each 30 1350.00 ix 40 mm to any smaller size G.I. sockets (reducing) 28 Each 55 1540.00 x 50 mm to any smaller size G.I. sockets (reducing) 25 Each 90 2250.00 xi 15 mm G.I. Tee (equal) 10 Each 32 320.00	Γ	V	65 mm dia G.I elbows	34	Each	322	10948	.00
viii 61 Each 24 1464.00 viii 25 mm to any smaller size G.I. sockets (reducing) 45 Each 30 1350.00 ix 40 mm to any smaller size G.I. sockets (reducing) 28 Each 55 1540.00 x 50 mm to any smaller size G.I. sockets (reducing) 25 Each 90 2250.00 xi 15 mm G.I. Tee (equal) 10 Each 32 320.00		vi	80 mm dia G.I elbows	15	Each	432	6480.	00
viii 45 Each 30 1350.00 ix 40 mm to any smaller size G.I. sockets (reducing) 28 Each 55 1540.00 x 50 mm to any smaller size G.I. sockets (reducing) 25 Each 90 2250.00 xi 15 mm G.I. Tee (equal/reducing) 10 Each 32 320.00	\	/ii	20 mm to 15 mm G.I. sockets (reducing)	61	Each	24	1464	.00
x 50 mm to any smaller size G.I. sockets (reducing) 25 Each 90 2250.00 xi 15 mm G.I. Tee (equal) 10 Each 32 320.00	v	iii	25 mm to any smaller size G.I. sockets (reducing)	45	Each	30	1350	0.00
xi 15 mm G.I. Tee (equal) 10 Each 32 320.00	i	‹	40 mm to any smaller size G.I. sockets (reducing)	28	Each	55	1540	0.00
20 mm G L Tee (equal/reducing)	х			25	Each	90	225	0.00
xii 20 mm G.I. Tee (equal/reducing) 242 Each 54 13068.00	xi			10	Each	32	320	.00
	xii			242	Each	54	130	068.00
xiii 25 mm G.I. Tee (equal/reducing) 180 Each 72 12960.00	xiii		25 mm G.I. Tee (equal/reducing)	180	Each	7:	2 129	960.00

HD

TO





	and the state of t	Nikethiside anago					
4	at mm G.I. Tee (equal/reducing)	110	Each	14	5	15950	.00
	G.I. Tee (equalifedding)	98	Each	23	30	22540	0.00
	65 mm G.I. Tee (equal/reducing)	68	Each	4	08	2774	4.00
1	80 mm G.I. Tee (equal/reducing)	30	Each	5	72	1716	0.00
Aville Aville	20 mm norminal bore G.1 Unions	121	Each	1 1	115	1391	15.00
xix	25 mm nominal bore G.I Unions	90	Eac	h	150	13500.00	
XX	40 mm nominal bore G.I Unions	55	Eac	h	267	146	85.00
xxi	50 mm nominal bore G.I Unions	49	Eac	ch	344	168	356.00
xxii	65 mm nominal bore G.I Unions	34	Ea		549	18	666.00
xxiii	80 mm nominal bore G.I Unions	15	Ea	ch	634	95	10.00
xxiv	15 mm G.I Nipple of length 3", 4" and 6"	121	Ea	ich	30	36	30.00
XXV	20 mm G.I Nipple of length 3", 4" and 6"	90	Ea	ach	40	36	600.00
xxvi	25 mm G.I Nipple of length 3", 4" and 6"	55	E	ach	60	3	300.00
xxvii	40 mm G.I Nipple of length 3", 4" and 6"	49	E	ach	90	4	410.00
xxviii	50 mm G.I Nipple of length 3", 4" and 6"	34	E	ach	125	4250.00	
xxix	65 mm G.I Nipple of length 3", 4" and 6"	15		Each	275	5	4125.00
18	Carriage of materials by mechanical transport including loading, unloading, stacking of materials						
ì	GI pipes below 100 mm dia by 30 km	92.89	9	МТ	108	0.76	100392.00
ii	250 mm dia DI pipe by 30 km	1133	30	metre	100	100.83	
iii	125 mm dia DI pipe by 30 km	950	0	metre	33	3.11	314545.00
iv	100 mm dia DI pipe by 30 km	206	50	metre	2	6.16	53890.00
19	Carriage of materials by manual means including loading, unloading, stacking of materials						
i	GI pipes below 100 mm dia by 700 meters	92.	.89	МТ	MT 44		41398.00
ii	250 mm dia DI pipe by 500 meters	111	330	metre		35.72 404708.0	



0500			\	444625.00
9300	metre	11.	./5	111625.00
2060	metre	9	.6	19776.00
	-1			Rs.19003226.00
			Rs	s.1520258.00 (-8%)
			1	Rs.17482967.00
	9500			2060 metre 9.6

Head Draftsman

A Terms and Conditions: -

The contractor shall draw agreement with the Superintending Engineer Hyd. Circle Kupwara H.Q Handwara within 07 days from the date of issue of allotment order and failing to execute such an agreement in time shall not however prevent this contract being enforced against the contractor and the conditions laid down in the NIT shall hold good even before drawl of formal agreement.

The work shall have to be executed strictly in accordance with the approved proposals and 2. specifications of the sanctioned estimates.

The date of start of work shall be reckoned from 07 days after issuance of allotment. 3.

It shall be mandatory for the executing agency/ contractor to ensure safe and adequate supply of 4. electricity required for all the workmen skilled/ unskilled deployed at site of work.

Suitable arrangements for supply of portable water at site of work for all the workmen skilled/ 5. unskilled be made by the agency/ contractor just before the virtual start of execution at site.

Arrangements for sufficient sanitation facility at site be ensured by the executing agency / contactor for all the workmen to be mobilized at site besides, separate toilet facilities be provided 6. for Female workers at the site of work.

Insurance cover as admissible under rules shall be provided to all workers/ skilled/unskilled 7. deployed at site and the necessary premiums shall be borne by the executing agency/ contractor

Payments are subject to the recommendation of the third party verification agency (M/s. WAPCOS 8. Ltd).

B. Time of completion

The works shall be completed within a period of (150 Working Days) after the date of issue of allotment. In the event of the contractor failing / declining / neglecting / delay in the execution of the work, penalty to the extent of 10% of the allotted amount shall be imposed on the contractor and the work shall be got executed departmentally or through any other agency at the risk and extra cost of the above contractor. Besides action under rules for black listing of the contractor shall be taken up by the Department.

C. Earnest Money

The Bank Guarantee of Bid Security for Rs.380060.00 (Three Lacs Eighty Thousand & Sixty Rupees only) of J&K Grameen Bank Branch Kralpora pledged to Executive Engineer PHE Division Kupwara shall be retained in the Office till successful completion of the above work after the expiry of the defect liability period.

D. Performance Security

Performance security equivalent 03% of the value of the contract Rs.524489.00/- valid in accordance with bid condition shall have to be furnished by you in shape of CDR/FDR/BGR within one week of the date of issuance of allotment order or at the time of signing of agreement whichever is earlier

E. Advance payment

No mobilization advance or advance payment shall be made to the allottee (contractor).

All other conditions as laid down in 5- NII NO: 12 of 2022-20 issued shall be binding on the interest of the state of the interest of the inte

District Superintending Engineer,
Hydraulic Circle Kupwara
HQ Handwara

Copy to the:

Chief Engineer Kashmir PHE Department Srinagar for favour of information.

Chief Engineer Kashmir PHE Department Srinagar for favour of information.

District Development Commissioner (Chairman DJJM) Handwara for favour of information.

District Nodal Officer WAPCOS Ltd. (Distt. Kupwara)for information.

Executive Engineer PHE Division Kupwara for information and necessary action.